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filel = "nmv1500";
file2 = "nv4000";

strl ="M11";
str2="";

with open(filel, 'r') as f1:
with open(file2, 'w') as f2:
for rlin f1:
r2 = rl.replace(strl, str2)
f2.write(r2)

filel = "nv4000";
file2 = "dummy";

strl = "M69";
str2 ="";

with open(filel, 'r') as f1:
with open(file2, 'w') as f2:
for rlin f1:
r2 = rl.replace(strl, str2)
f2.write(r2)

filel = "dummy";
file2 = "nv4000";
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| dd = float(input(' F Y L&<D>? ")) o

dek =10

|

|if (dd < 2.0) or (dd > 12.0):
exit()

elif (dd >=2.0) and (dd <= 3.0):
dn = 4600 #SGR F U JL[E1453
df =200 # K )ikl
dg=(dd /dsk) # FUNLRT v T&E

elif (dd >=3.1) and (dd <= 4.0):
dn = 3400
df = 260
dq =(dd / dsk)

elif (dd >= 4.1) and (dd <= 5.0):
dn = 2700
df = 250
dq =(dd / dsk)

elif (dd >=5.1) and (dd <= 6.0):
dn = 2000
df = 240
dq =(dd / dsk)

elif (dd >= 6.1) and (dd <= 7.0):
dn = 1767
df = 230
dq =(dd / dsk)

elif (dd >=7.1) and (dd <= 8.0):
dn = 1533
df = 220
dq =(dd / dsk)
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| ed = int(input('3, 4, 5, 6, 8, 10, 12 <AE-VMS ENDMILLEZ>? ")) o

|if (ed < 3) or (ed > 12) :
exit()

cut = int(input('L:EIEEIY] 2:HE04] <IEI 2 4 7>2)
stock = int(input('1:55400/S50C 2:SCM/SKD 3:NAK80/PX5 4:SUS <#EHIHES>? ")

if cut == 1: # @IELIH
if stock == 1: # SS400/S50C
ifed ==3:
en = 13800
ef = 1660
ap =ed
ae = ed*0.1
ae = round(ae,1)
11=8
elif ed == 4:
en = 10400
ef = 1830
ap =ed
ae = ed*0.1
ae = round(ae,1)
11=11
elif ed == 5:
en = 8300
ef = 1990
ap = ed
ae = ed*0.1
ae = round(ae,1)
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